
Week 15 

Name: __________________________________________________________________           Nov. 18-22, 2019 
 Monday Mon. Workspace Tuesday Tues. Workspace 

 

1 

 

 

 

Which is an example of the 

Commutative Property of 

Multiplication? 

a. 5 + 7 = 7 x 5 

b. 2 x 6 = 3 x 4 

c. 5 x 1 = 5 x 1 

d. 3 x 8 = 8 x 3 
 

Chloe read 482 pages on 

Friday and 612 pages on 

Saturday. About how many 

pages has she read so far?   

a. 200 pages 

b. 600 pages 

c. 1,000 pages 

d. 1,100 pages 

 

2 

 

 

Solve using the distributive property. 

 

      

      

      

      

      

  

 

 

5x6 = (5 x __)+(5 x __) 

 

         =  ____ +  ____  

 

         =     ______ 

 

       

Use parentheses and a 

multiplication property to 

find the product.  

 

       4 x 5 x 2= 

 

 

What property did 

you use to solve? 

 
 

 

 

3 

 

 

   

           X X X X X X X X  

           X X X X X X X X  

           X X X X X X X X 

           X X X X X X X X___ 

Use the model to write two 

facts using the Commutative 

Property of Multiplication. 

 

_____ x ______ = _______ 

 

_____x ______ =  _______ 

 

Write the multiplication 

sentence that matches the 

addition sentence. 
 

9 + 9 + 9 + 9 + 9 = ___ 

 

 

 

____ x ____ = ____ 

 

4 
 

 

 

Which is an example of the 

Distributive Property of 

Multiplication? 
  

 

a.9 x 4 = 4 x 9 

b. 4 x 9 = (4 x4)+(4x5) 

c. 4 x 9 = (4+5)+(4+4) 

d. 4 x 9 = (4 x 5) x 9 

 
                        

Write a set of related 

facts for the array. 
 

* * * * * * * * 

* * * * * * * * 

* * * * * * * * 
 

 

______ x _______ = ______ 

 

______ x ______ = _______ 

 

______ ÷ ______ = _______  

 

______÷ ______ = _______ 

 

 

 

5 

 

 

 

Bryson has a bookshelf with 5 

shelves. Each shelf has 2 boxes 

with 3 books in each box. How 

many books does Bryson have? 

 Which of the 

following equations 

is not correct? 

a.6 x 2=2 x 6 

b.9 x 1 = 9 

c.10 x 0 =0 

d.50÷5=5÷50 

 

 

6 

 

 

 

 

In the space below, draw an array of 6 

x 9. Break it into 2 smaller arrays and 

write an equation for each array. Solve 

using the Distributive Property. Then 

explain how the Distributive Property 

helps you solve multiplication 

problems. 

  Write another way to 

group the factors.Which 

property is used? What is 

the product? 

 

      3 x (5 x 4) 

 

____ x (___ x ___) 

Property: 

_______________ 

Product: 

_________ 

 
 

 

 

 

 

 

 
 Wednesday Wed. Workspace Thursday  Thurs. Workspace 



1 There were 12 questions on 

the Science quiz. Each 

question was worth 4 

points. How many total 

points was the quiz worth?  

Solve using the 

Distributive Property. 

. 
 

 

Write an addition 

sentence to match this 

multiplication sentence.  

 

     5 x 7 = 35 
 

 

 

 
 

2  

          980 

       -  643 
 

 
 

 John drew 517 pictures 

during 3rd grade. Mark 

drew double that 

number. How many 

pictures did the boys 

draw altogether? 

 

3 What is the product of 

4 and 60? 

   4  x  7  =  

  4 x 70 = _________ 

  4  x 700 = _________ 
 

 

4 Reese made 615 

blocks while playing 

football in high 

school. In college so 

far he has made 323 

blocks. How many 

more blocks did he 

make in high school? 

         24     16       8       

       - 8     - 8     - 8     

       16        8       0       

 

What division sentence is 

shown by this repeated 

subtraction? 

 

_____   ÷   _____   =   _____ 
 total          ÷  # subtracted =  # of          

                                                times                                          

                                           subtracted 

5 At the birthday party 

there were 28 cookies on 

a tray. The 7 guests 

received an equal 

number of cookies. How 

many cookies did each 

guest get? 

Write an equation and draw a 

model if needed. 
Maci has 18 magazines. She 

divides them among 6 

friends. How many 

magazines does each friend 

get? 

Draw a model and write an equation. 

 

 

 

 

 

6                 

Show the other three 

facts that belong with: 

  

       5 x 7 = 35 

1. 

 

2. 

 

3. 

Draw a number line to show  

the product of 3 x 6. 

 

 

7  

2 x 7 = ______ 

 

5 x 9 = _____ 

 

3 x 8 = _____ 

 

6 x 6 = _____ 

 

3 x 4 = _____ 

 

7 x 3 = _____ 

 

7 x 5 = _____ 

 

7x 7 = _____ 

 

6 x 7 = _____ 

 

3 x 9 = _____ 

 

6 x 3 = _____ 
 

7  x  2 = _____ 

 

 

 

12 ÷ 2 = _____ 

 

15 ÷ 3 = _____ 

 

10 ÷ 5 = _____ 

 

36 ÷6 = _____ 

 

16 ÷ 4 = _____ 

 

20 ÷ 2 = _____ 

 

25 ÷ 5 = _____ 

 

30 ÷ 5 = _____ 

 

18 ÷ 3 = _____ 

 

12 ÷ 3 = _____ 

 

12 ÷ 2 = _____ 

 

21 ÷ 3 = _____ 

 

 

 

 


